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Solve.

la.

2a.

3a.

4a.

5a.

6 a.

7 a.

151 x 100°

261 | (-7)?

(_7 1)1 x 026

043 + 272

(-1000)1 -

(-91)2

108 x (-5)3

(-45)2 x 1003

1b.

2b.

3b.

4 b.

5b.

6 b.

(88)L + (332
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Exponents Worksheet

852 x 41

2c.
(-1000)2 + 104

501 - (-1)%4

(-92)2 - 131

(-1)48 / (-63)?

(-42) | (-7)1

182 + 00

1008 + 952

lc.

3c.

4c.

5c.

6cC.

7 c.

8c.

1d.
(-1000)* x 301

492 + (-2)10

27 x 54

(-2)°> + 1002

(-10)! - 62

22 1 109

(-2)8 /1 321

133 4 073

2d.

3d.

4d.

5d.

6d.

7d.

8d.

642 x 107

167 4+ gl

012 + (-73)

(-42)1 - 622

1004 x (-98)2

(-16)t x (-2)°

(-6)1 + 722

752 x (-1)°
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